MFM 1PI Multiplying Integers

Name:
Multiply:

Level 1:




Level 2

(—6) x 0=
8x(-2)=
9x(—4)=
0x(—10)=
(—4) x (-6) =
2o

Ix (-7 =
4x(—12)=
T =
(=2)x1=
Tx(-8)=
(=12 % T =
X T=

11 x{—9) =
(=3)x1=
(—11) x (=11) =
2¥ =
6x(—4)=
AR =
4x(-8)=
(—1)x2=
(—10) x (—4) =
(—3) x(—4) =
5% -T)=

Find each product.

T ==
(—4) x (—=10) =
10 x4 =

F1 1=
(—10) x (=2) =
Ix(—3)=
OxB =
(—6) x (=5) =
Gx(—5)=
(=11 )2 =

1T 2=
4x10=

1 x (—6)=

4 x(-2)=
(=1) x 11 =

8 x4=

(=5) x 10=

10 x (—11) =
(—4)x 1=
(=2) x (—11) =
(—9) x(-8)=
(—11) x (—=10) =
B ik=—

D 11 =

ax (—10) =
10x (=3) =
10 x (—4) =
T3 =
IMIT=

(—12) x (—12) =
(=1) x 1=
10 {—1)=

9 x(—12)
12%x 3=
T Il=

(=3)x (-5)=
L B
IX9=
(—4) x (—12) =
4 5T =
(—9)x5=
(=1) x (~2) =
(=N x(-9)=
Ex 1=
(—4)x3=
(=9) x (—12)=
OxI=
0x(—6)=
(—5)x12=
(=7) x (=3) =
(—10) x (—6) =
(-2} x2=



Dividing:
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21 =7

(—21)=7
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(—48) = (—6) =

(—=35) = (—5) =

(—16)+-8 = (—56) -8 = 48 +(—6) =

(282 5=



Level 2:

96+ (—12) = (—40) = (—10) = (—55)+5= 63+9=
(—63)=(—9) = (—8)+2= (—90) = (—10) = 362 (—6) =
72+12= 33+11= 49+ 7= (—100)+10=
3= frah e h — 48+ (—4) = M=M=
(=24) = (—=12) = (—96) =8 = 60=(—5) = (=30)+5=
M2 = (—14)+(-7) = (—16)+2= (—110)+ 10 =
(—66) =11 = (—63) 9= 80+ (—10) = (—36) = (—12) =
182 0= 18+(-2)= 64+ (—8) = 4+4=

648 = (—99) = (—9) = 60+ (—10) = (—110) = (—11) =
84=12= (—25)+(-5) = (—22)+2= (—56) = (—8) =
(—40) = (—=5) = 1+(-1)= 2:2= (=21)=(=3) =
(—6)+(-1)= (—24)+12= (—24)=(-4)= 33+(-3)=
(=70)+(=7) = 30+ (=5) = 5010 = 3+(-3)=

28 (=7) = 66 = (—6) = (=72)+12= 15+3=

(—48) = (—12) = (—14) =7 = 72+ (—6) = (=36) = (=3) =
(—120) =10 = 707 = (—56) 8 = 120+ 10 =
(—132)+(-12) = T+1= (=70)=(-10) = 20+-(-2)=
144+ (—12) = (—28)+7= 14+7= 30+6=
55+5= 21+ (=7) = (=27)+9= (—20) = (—4) =
(—45)+(—9) = 120+ (—10) = 28+ (—4) = 12+ (-1)=
8+1= 66 (—11) = (—36)=(-9)= 2443 —=
5+(-5)= (—6)+(—6) = 8+(-1)= 83+r4=
(—15)+3 = 50+5= 54:6= (—36) =6 =

(—24) =4 = 96+ 8 = (—=12)+(—6) = 60+5=
(—36)=3 = 24:4= 28+4= (—88) =11 =



